Micro Application

Perfectly Competitive Market

Price, AC,MC

 







Quantity

In a perfectly competitive firm, an increase in the cost of labor causes the marginal cost curve to shift upward and the average cost curve to shift upward.  Holding demand constant, quantity sold will decrease along with the firm’s profit.

Imperfect Competition – which includes monopolistic competition, some oligopoly models, and monopolies.
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In an imperfectly competitive market, an increase in the price of labor would shift the marginal cost (mc) curve up to the left and the average cost (ac) curve up to the left. The cost of producing the next unit (mc) would increase because of the additional labor costs. The average cost per unit would rise because the labor component of each good would increase. For example, Health benefits the union demanded for retirees and active workers added between $1,500 and $2000 to every GM vehicle made in 2012.
The end result of an increase in labor cost is higher prices, less goods sold, and lower profits.

If the labor cost increase affects the entire industry, the industry’s supply curve will shift left. The price of the good or service will rise and the quantity sold will fall.

Macro Perspective

The labor market is connected to the goods market through the aggregate supply curve.

        Price, Inflation


































































































































































































From a macro perspective… the labor market feeds into the product/goods market through the aggregate supply curve.
An increase the cost of labor will shift the short run aggregate supply curve to the left. The impact of the long run aggregate supply curve depends on a variety of factors. 

Is the change permanent or will adjustments be made in the labor market to counter the change in labor cost? 

Discussion Questions

What effect does a decline in the Chinese economy have on the US labor market?

How does the legalization of marijuana impact the labor market?

http://www.usatoday.com/story/news/nation/2013/06/07/marijuana-academic-problems/2399693/
What affect would a decrease in corporate taxes have on the labor market? 
How does the trend of getting married at a later age impact the labor market?

http://www.theatlantic.com/sexes/archive/2013/03/getting-married-later-is-great-for-college-educated-women/274040/
A good example of a technical article
http://www.nytimes.com/2015/04/05/opinion/sunday/the-real-reason-college-tuition-costs-so-much.html?_r=0
Average Cost





Marginal Cost





MR=Demand





P  r  o  f  i  t





Long run Aggregate


Supply





Short run Aggregate


Supply





GDP


Unemployment





Aggregate


Demand








